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Change

S M E : KELZ3-WO0S06 Al 8 & 1} HOIX (3) / (#5)
2. BHEY ANEER
2g (T) G (% AH.) g (hPa)
MEla p
13.5 £ 0.1 52 £ 1 10230 £ 0.5
BEY BS HERAT BE A2y 2x
ryvomn 20+ 1% 20+ 1) T +1)%T
) HEN IRES Nw e
(2.0 + 0:5) m/s Aen me
A8 EH| 2a @4 (mm) gEal (mm) Hed (mm)
!Hfﬂﬁtﬂl 2300 2200 %« 800 |3 800 =3 400 % 2320|3800 %3400 = 2 280
- 18 23 38
BRY FNES 20.22 20,24 20,24
ec () BE AN 22T “20.22 20.24 20.96
Hea NEE -0.24 -0.22 ~0.20
JIEEN ey 8.72 8.73 8.74
NFRNIY ISV 17.51 17.50 17.51
HE (W)
rE L 17.55 17.56 17.63
A BREE B.68 8.67 8.62
HAREHY (mMW) 5.307 5.307 5.3a7
e QBIFEE (mHW) 5.32
FaEE (W/(m™H) 0.19
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